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® Based on SGML (so a S|bI|ng of HTML)
® In fact, the XML document object model (DOM) is shared with HTML
* Supplanted for some uses by Javascript Object Notation (JSON) these days



* With a single element ¢

* A few other things (comments, processing instructions, CDatq, ...)
@



<?xml version="1.0" encoding="utf-8"?>

<books>
<book year="1969">
<title>The Left Hand of Darkness</title>

<language>EN</language>

<author>Ursula K. <surname>Le Guin</surname></author>
</book>

| </books>

%

Elements are in orqnge"(ru' ing <tag>to </ ,a’rrlbu’res in yellow, and text in white.
Purple can be thought of as represen’rlng ’rhe documen’r node itself.
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¢ like Do ',"' tis not T

®* Most queries return a nodeset — an unordered list of nodes in the XML tree
¢ ® XPath also has strings, numbers, and booleans



. ,..'o'rher nodes.

[ J

...zero or more predicates (additional filters to restrict the results)

(f ® Each step is evaluated in the context(s) of the nodes selected by the previous step
&



t nodes with

®* Double slash i

* So /books//surname /text() is similar to the first query, but not exactly the same

® In particular, it has four steps, not three: This will matter later.
&
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* Anodet

=

The name of an

. L-\., hd _,_..." : . "
* “¥ (any element; unless the axis is attribute)
* “text()” (also “comment()” and “processing-instruction()”)

® * “node()” (matches anything




he results of

| ."'d'cscumen'r)
25 selected by book[2])

® Otherwise, only selec converted to boolean is true

* /descendant: book[p05110n) > 2] (all books after the second; already boolean)

®* Most often a node set: Empty node sets are false, non-empty are true

* //book[author/pseudonym] (books that have an author that has a pseudonym)
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® http://xpather.cor 1/4gc with ou example document)

r


http://xpather.com/4gcYRTs6




®* Not 'rhe easiest

(f ®* Formal semantics: https://www.w3.org /TR /xquery-semantics/ (XPath 2.0)


https://developer.mozilla.org/en-US/docs/Web/XPath
https://www.w3schools.com/xml/xpath_intro.asp
https://www.w3.org/TR/xpath/
https://www.w3.org/TR/xquery-semantics/

Ig orithms for
005), 444-491.

" DOI: h
* Shows XPath ¢ an be ¢ (on the sizes of the expression and of the
document) '

® Some useful subsets of XPath can be evaluated in linear time O(|expr| * | document|)

® The trick: evaluate predicates “bottom up” (start with the most deeply nested)



https://doi.org/10.1145/1071610.1071614
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